| N of associated (recoToSim) duplicate tracks vs hit |

[N of associated (recoToSim) tracks vs hit_]

N of reco track vs hit

o 10
< 2 N o 4 [
< 2 Ey EY
el
] m i) K &
e QS T [a]
o = & X ®
o = — o — X
ITe] 5 E 2 L
3V 9 ] m m -
o H
39 £ 3
g g
2 SR
=] £ £
S E
Lo 8 m
i ]
1=} © 8 1
] > g g
5 S 5 H
sxoen ayeondnp oney L= -
o n o
< 2 N2 & N O
= [} 9] 5]
> > 9 >
o —
& m i) k) k)
g o % T © o
o 5 NS X — ™
2} = S < X
[=)
x — @
ITe) S =
N I'e} padt N
— - —
———c .o
—— N —
== ™ =1 B )
- II.I i B
=
- -qo
*= |° 1) <
=
e~ o o~
= -,
L
L o =3 - o
] > [=} =} ]
5 5 = = = 3 5
SR} ey oney SHRENENEN oney syoen axe} oney
o o
. N 2 4 4 N
. = ) [ )
: > > Q>
o
+ o m = ) — T
I = o) [-¥a}
4o = & 2 —®
— 3] = — a — < %
= 5 X = —
R ||. . T} EY S 5 m
Y 3 = = 4N
T x At a —
X 8
- - (=) 7 2 .o
N w o —
I S 7Y g g - 4o
— s =
£ £
o 2 g ©
ER | w : :
(O g g <
= E-1
© lx o Ao
[P PP PPV i = H 1 [ P R AP
5 v 9 S o O_ [ g 4 - o
=1 = « 3 S - - w 2 - — — — =1
soel) ani oney L L | soenenn oney L syoen enn oney L] sxyoenenn
Y X
o _ _ 10 )
< 2 - = N @ 4 N
g [} 3] o O
% ¥ T_ T_ m, m, lm,
g - S % o ©n
o= = NS X — ™
® |00 = oy =3
o |00 S £
N - e} pad N
— _ = —
o 5 o
I ’ ’ 9l 5 —
k) >
0 . S ] = d
— x )
P ol o™
o o o o ©
— 2 > >
S| [ 0 o] S <
I} g g I
9 o o o
i ! 8 3 g
[N o = o = = sl
=1 =1 S M S M M S
syoeln syoen oney = syoen oney syoen oley




	Contents
	Page 1


